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KSF 2018 Mathematics- PreEcolier — Levels 1-2

3 point problems (nmpoBAnuata 3 uovadwv)

1. What do you get when you invert the colours?
TLnalpvelg 6Tav aviaAAAEELG TA XpWHATA,
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2. Alice draws a figure connecting the ladybirds in the order of increasing number of their dots. She starts
with the ladybird with one dot. Which figure will she get?

H AANikn kataokeuAlel €va oXfO TTOU GUVOEEL TIG TTATIOPOUVEG HE TN OELPA TOU aUEavopevou aplBpou
TWV KOUKISWV TOUG. ZEKLVA LE TNV TtAmapouva e pila koukida. Mota popdn Ba mapeL To oxAUQ;
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3. Mary glued 4-ray stars like the first figure. At least, how many stars did she use to get the second figure
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H Maipn kOAANGCE AoTEPLO TEOOAPWY OKTLVWYV OTWCE N MPWTN. TOUAAXLOTOV, TOCO O0TEPLA XPNOLUOTIoinoE
yla va TIApeL To SEUTEPO OXAUQ;

(A)5 (B)6 (C)7 (D)8 (E)9
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4. This pizza was divided into equal parts. How many parts have been taken?
Autn n itoa Ywplotnke ot loa pépn. NMooa pépn Asimouy;

(A1 (B)2 (€3 (D)4 (E)5

5. How many kangaroos must be moved from one park to the other in order to get the same number of
kangaroos in both parks?

Méoa kaykoupo TPETEL VAL LETAKLVNBOUV amod To éva mApko oTo GAAO £TOL WOTE Ta SUO TIAPKA VA EXOUV
Tov (610 aplBPo KayKoupo;

(A)4 (B)S (6 (D)8 (E)9

6. Which of these ladybirds has to fly away so that the rest of them have 20 dots in total?
Mola amo AUTEG TLG TTATIOPOUVEG TIPETIEL VA TIETAEEL £TOL WOTE OL UTIOAOLTIEG VA €X0UV 20 KOUKKISEG
OUVOALKQ;
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7. Emilie builds towers in the following pattern. Which one will be the figure number 16?
H Emilie xtilel mupyoug pe To akoAouBo potifo. Mola Ba sival n elkéva pe aplOuo 16;

1 2 3 4 5
(A) é (B) (© () (E)

8. Little Theodor assembled a stacking toy as in the picture. How many rings will he see looking at it from
above?

O UIKpOg Oeddwpog mailovrog Snuoupyel TNV TLo KATW £lKOvVa e Ta Saktulidia. Noca SaytuAidia Ba
Sel kottalovtag ano nNavw;

(A)1 (B)2 ()3 (D)4 (E)5
4 point problems (MpoBAnuata 4 povadwv)

9. Juana, the friendly witch, has 5 broomsticks in her garage. She removes the broomsticks one by one
without moving the others. Which broomstick will Juana take as last?

H Xouava, n ¢k paylooa, €XeL 5 okoUTeG oTo yKapal tnG. Adalpel TIg OKOUTIEC pia TpoG pia xwpic va
petakivel Tic dAAec. Mola okouma Ba mapeL TeAsutala;
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10. The two transparent squares are put on top of each other. What can you see?
Ta 600 Sladavn TeTpdywva TomoBeTOUVTAL TO £va TAVW oTo GAANo. TL unopeis va deig?
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(A) (B) (€) - (D)

11. Peter drew a pattern twice, as in the picture. Which point will he reach when he draws the third
pattern?

O Nétpog oxeblaoe £va potifo Vo dpopég, OMwe otnv ekova. And molo onueio Ba mepdaoel étav Ba
oxeblaoel To tpito potipo;
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12. Lisa has 4 pieces, but she only needs 3 for her puzzle frame. Which one will be left over?
H Alla €xetl 4 koppdria, oAAA XpeLAleTal LOVO 3 yLOL VOL CUUTIANPWOEL TNV TILO KATW £LKOVA. MOL0 KOUUATL
Ba peivel ektog;

FREn

(A)A (BB (C)C (D)D (E)CorD
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13. Diana first got 6 points with three arrows on the target, as on the left picture.

The second time she got 8 points, as in the middle picture. How many points did she get the third time?
H Aavan mnpe yla mpwth ¢opd 6 TOVTOUG Le Tpia BEAN oTo 0TOX0, OWC OTNV APLOTEPH ELKOVA.

Tn &eltepn dopd mHpe 8 MOVIOUG, OWG 0T HEoN €lkOva. MAooug MOVTOUG T PE yLa Tpitn ¢opad;

6 points 8 points 7?

6 BaBpot 8 BaBpot 3

(A)8 (B)10 (C)12 (D)14 (E)16

14. The dog went to its food following a path, as shown. At the crossroads it had to turn totally 3 times to
the right and 2 times to the left. Which path did the dog follow?

To okuAL trye oto $aynTtd Tou akoAouBwVTAG £va LOVOTIATL, OTIWE GALVETAL. ITA OTAUPOSPOUL

£npene va otplPel cuVoAka 3 popég Ttpog ta Sefla kat 2 GopEC MPOG TA APLOTEPA.

Mota mopeia akoAoUBnoe o okUAOG;

(A) (B)
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(€) = (D) (E)

15. How many times your own right hand appears in the picture?
MNoéoeg dopég epdaviletal to Stk oou SeEL xépL otnV £lkOVQ;

LL/ ) ! ’ | 3‘ -
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(A)3 (B4 (5 (D)6 (E)7
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16. Charles cut a rope in three equal pieces and then made some equal knots with them. Which figure
shows correctly the three pieces with the knots?

O ToapAng ékoPe éva oxolvi og Tpla (00 KOUPATLO KoL ETIELTO EKOVE LEPLKOUC KOUTTOUG LOOUG HETAEY
Tou¢. MNola elkova Selyvel CWOTA TO TPLOL KOUUATLO LE TOUG KOUPOUC;

vws@**wm.m\w“ S|

(A) (B)

(E)

5 point problems (MpoBAnuata 5 puovadwv)

17. The number of dwarfs that can fit under a mushroom is equal to the number of dots on the
mushroom cap. The picture below shows one side of each mushroom, the number of dots on the other
side is the same. If 30 dwarfs are seeking shelter from the rain, how many dwarfs will get wet?

O aplBUOG TWV VAVWY TIOU UIOpPEL va YWwPETEL KATW ard £va Lavitdpl elval (00G e Tov aplOpo Twv Koukidwv mou
daivetal og kABe kamakL pavitaplol. H mapakdtw elkova Selxvel pia mAeupd KABe pavitaplou, o aplBuog Twv
KOUKLSwV otnv &AAn mAeupd ivat o idtoc. Eav 30 vavol avalntolv kataduylo amno t Bpoxn, moéool vavol Ba

Bpayouv;

i

(A)2 (B)3 (€4 (D)5 (E)6

18. 1 ice-cream costs 1 euro. There is a promotion so you can buy 6 ice-creams for 5 euros. How many
ice-creams at most could you buy with 36 euros?
1 maywto kootilel 1 eupw. YIAPXEL pLa Tpoodopd WOTE VO UTTOPELTE va ayopAoEeTE 6 MaywTaA yLa 5 eupw. Mooa
TIAYWTA TO TIOAU Ba pumopoloate Vo ayopACETE UE 36 EVPW;

MPOZMOPA!

PROMOTION!

%%ﬁ -7 5€

(A)36 (B)30 (C)42 (D)43 (E)45
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19. How many different numbers greater than 10 and smaller than 25 with distinct digits can we make by
using two of the digits 2,0, 1, and 8 ?

MNoool dtadopetikol aptBuot elvat peyohutepol and 10 kat eival pikpotepol amno 25 pe Stapopetika Pndia,
MIIOPOULLE VO KAVOU LE XpnoLpomolwvtag Suo amo ta Yndia 2, 0, 1 kat 8;

(A)4 (B)5 (C)6 (D)7 (E)8

20. A pirate has two chests. There are 10 coins in the left chest and the other is empty. Starting
tomorrow, the pirate will put 1 coin in the left chest and 2 coins in the other one every day.

In how many days will the two chests have the same number of coins?

‘Evag melpatic éxet SU0 pmaoUAa. Yrdpxouv 10 KEpUATa 0TO APLOTEPO UIaoUAO Kot To dANo eival adelo. Apxilovtag
amd auplo, o elpathg Ba BaAsl 1 KEpUa 0TO apLoTEPO UmaoVAO Kal 2 KEpUata oto GAANo, KABe pépa.

Y€ MOOEG NUEPEG Ba éxouv Ta U0 KIBWTLA TOV 1610 0pLlOUO KEPUATWY;

(A)5 (B)8 (C)10 (D)12 (E) never(motg)

21. Alice has 3 white, 2 black and 2 grey pieces of paper. She cuts every non-black piece of paper in half.
Then she cuts every non-white piece of paper in half. How many pieces of paper will she have?

H Alice €xel 3 Aeukd, 2 pavpa Kot 2 ykpila Koppatia xaptiol. KoBel KABs un LOUPO KOUUATL XopTl 0TO PECO. 2T
OUVEXELA, KOPEL KABE N AgUKO KOUUATL XapTLoU 0To HETO. Mboa xaptia Ba €xey;

(A)14 (B)16 (C)17 (D)18 (E)20
22. A student had some sticks of length 5 cm and width 1 cm. With the sticks he constructed the fence
below. What is the length of the fence?

‘Evag pabnticg sixe kamoleg paBdoug unkoug 5 cm kat mAdtoug 1 cm. Me tic papdoug £dtiage Tov mapakdTw
dpaxktn. Moo ival To pAKog tou ppdytn;

Sem

length?

& pnkog>

(A) 20 cm (B) 21 cm (C) 22 cm (D) 23 cm (E) 25 cm
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23. The road from Anna's to Mary's house is 16 km long. The road from Mary's to John's house is 20 km
long and the road from the crossroad to Mary's house is 9 km long. How long is the road from Anna's to
John's house?

O 6popog and to onitt tng Anna(Avvag) mpog to ormtitt tng Maria(Mapiag) elvat 16xAu. O §popog amno tn
Maria(Mapia) mtpog to omnitt tou John(lwavvn) €xet unkog 20 XIALOUETPA KaL 0 SpOog amd To T Slaotaupwaon LEXPL
To omitt tng Maria(Maplag) €xeL urikog 9 xIALoHETPpWY. MOCOo PRKoG elval o §popog and tng Anna(Avvag) HEXPL TO
omnitt tou John(lwavvn);

Mary

Anna ﬂ
John
(A) 7 km (B) 9 km (C) 11 km (D) 16 km (E) 18 km

24. Nelly bought 4 toys in the store. Their costs satisfy the equalities:
H N€An ayopaoce 4 matyvidla oto Katdotnua. To KOOTOG TOUG LKAVOTTIOLEL TIC LOOTLULEG:

£&8&-¢
& &

What are the cheapest and the most expensive toys?
Mota sival ta pOnvoTEpA KL Ta TILo akpLBA malxvidia;

(B)

(E)



